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[1] koA PIEsE L7 S0

O 2x*-2x @ mx-my ® 3ab-6b @ 4xy° —8x’y
&z 2x(x-1) %z m(x—y) %% 3b(a—2b) %z dxy(y—2x)
® ab+ac—ad %% alb+c—d) ® x’-3x%+3x Ex x(x2—3x+3)
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DO x*+5x+6 @ x*+9x+18 ® x*-8x+15 @ x> -12x+20
sz (x+2)x+3) &z (x+3)x+6) &z (x-3)x-5) %% (x-2)x-10)
® x*+3x-18 ® x*+2x-24 @ x*—=x-30 x*=2x-35
sz (x+6)x-3) %z (x+6)x-4) Ex (x-6)x+5) &z (x-7)x+5)
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O x*-y’ @ x’-16 ® y*-49 @ y*-81
B x (x+y)(x—y) sz (x+ 4)(x—4) Bz (y+ 7Ny -7) 2% (y+9)y-9)
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@ x*+10x+25 ® x*—4dx+4
EZ

® x*=20x+100 ® 16x*—-24x+9
EZ

4x* —20xy +25y° @ x*+26xy+169y°
Kz

® x®-=3x"+2x ® mx’—16m
Kz

® —4x®+20x*+56x ® 3ax? +18ax+24a
EZ
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(Point) x2+(a+b)x+ab=(x+a)(x+b) T b=a OHBETHD,
x*+@+a)x+aa=(x+a)x+a) Lnziw, Exix, (x+a) LETTIORELL,
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x’+2ax+a’ =(x+a)  EEFEIH

x2+8x+16=(x+4)x+4) THRbLPTIZ, (x+4) OFICT B DHKE,

O x> +8x+16 @ x> +10x+25 ® x’—4x+4

%% (x+4) &z (x+5) sz (x-2)

@ y*+2y+1 ® x*-20x+100 ® 16x° —24x+9
sz (y+1) %% (x-10) sz (4x-3)

@ 9y’ -12y+4 4x* —20xy +25y° @ x* +26xy+169y°
sx (3y-2) &% (2x-5y) Exz  (x+13y)
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O 2x*-12x+18 @ x’-3x*+2x ® mx’—16m
= 2(x* —6x+9) = x(x* —3x+2) = m(x* ~16)
sx 2(x-3) %% x(x—1)x-2) &% m(x+4)x-4)
@ x’-x ® —4x’ +20x* +56x ©® 3ax® +18ax+24a
= x(x* 1) = —4x{x* —5x—14) = 3a(x* + 6x+8)
sz x(x+1)x-1) Bz —dx(x+2)x-7) %% 3a(x+2)x+4)

@ 12ay* +60ay +75a
=3a(4y> +20y +25)

%% 3a2y+5)



